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Answer all questions on three extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 16.198-220

avtap émel On mavtag Ay’ fyepoveooty AxtAeg
otijoev €D kpivag, kpatepov & &mi udbov EteAAe:
200 “Mvpudoveg pn tig pot dnethdwv Aehabéobw,
ag émi viuol Bofjoy dnetheite Tpaweoot
TévO’ OO pnviBuoy, kai u’ fridacte Eékaotog:
oxéthte IInAéog vig xohw dpa o’ ETpepe PP,
VNAeg€g, 0 mapd viuoly €xelg AékovTag ETaipovg:
205 oikad¢ mep oLV viuol vewpeda movtondpoloty
avTig, émel pa ToL M8 Kakog Xohog Eunece Quud.
TadTd [ dyetpopevol Bap’ éfalete: vov 8¢ mépavtat
@uAOTISOG HEya EpyoV, €ng TO Tipiv Y Eépaache.
€vOa g dAkipov fTop Exwv Tpweoot paxéobw.”
210  @g einwv dtpuve pévog Kal Bupov EkdoTov.
HaAlov 8¢ otixeg dpBOev, Emel factiAfjog drovoav.
@G 8 dte TolyOV Avip dpdpr) TUKLVOiot Aibotot
dwpatog vynhoio Piag avépwv dAeeivwy,
WG apapov kOpLOEG Te kal domideg duparoeoaoalt.
215  aomig &p’ domid’ €petde, kKOPLG KOPLY, Avepa O’ avrp-
yadov §’ inmokopot kOpvheg Aapmpoiot gaAotot
VEVLOVTWY, WG TTVKVOL EPEaTacay dAARAOLOL.
navtwv 8¢ mpondpotBe SV’ avépe Bwprooovto
[Tatporog te kai Adtouédwv éva Bupodv €xovteg
220 mpooBev Muppuidovwv moheplépev.

1. (a) Translate Mupuidoveg ... €kaotog (lines 200-202). [3]

(b) Explain why the Myrmidons criticized Achilles and state what they would have preferred
to do. [2]

(c) Present the two possible translations of xdAog in this extract and explain its different
usage. [4]

(d) Explain the effect of the simile of lines 211-215. Support your answer by quoting four
words or expressions from the Greek text. [4]

(e) mavtwv ... moheplépev (lines 218-220). State two ways in which Patroclus and
Automedon show their eagerness to fight. Support your answer by quoting the
Greek text. [2]
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Option A: Homer

Extract 2

(d)

(e)

Homer, lliad 16.233-256

Zed dva Awdwvaie ITedaoywke TNAOOL vaiwy
Awdwvng pedéwv dvoxelpépov, apugt 8¢ XeAlol

235 ool vaiovo’ dmo@iiTat dvintonodeg xapatedval,
nuev 8n mot’ €uov €mog Ekhveg ev&apévolo,
TiUnoag pev g, péya 8’ tyao Aaov Axadv,

N6 €1t kai vOV pot 108 émkprinvov €EAdwp-
avTOG HEV Yap Y@ PHEVEW VIOV €V AYDVL,

240 Al €tapov mépnw moAéoty petd Muppidoveoot
papvaocBat- 1@ kddog dpa mpoeg evpvoma Zed,
Bapovvov 8¢ oi fTop €vi ppeatiy, dgpa kal "Extwp
eloetal fj pa kai olog émiotnTal molepilewy
HHétepog Bepdmnwy, 1 ol TOTE Xeipeg damtot

245  paivovO’, 6mnoT’ Eyw mep fw peta ud@Aov Apnog.
avtap émel k™ o vad@t pdyxnv évommny te dinta,
aoknOng pot Enetra Bodag €mi vijag kotto
TebXeol Te LV TAOL Kal AYXEUAXOLG ETAPOLOLY.

G Epat’ ebxouevog, Tod 8 ExAve pnrieta Zevg.

250 1@ O’ E€repov pev Edwke matnp, ETepov 8 dvévevoe:
V@OV pév ot dnwoacBat TOAEHOV TE pHaxny Te
ddke, 060V §” dvévevoe paxng é§amovéeobal.
fitoL 6 pév omeioag te kai ev&dpevog Al matpl
ay kAoiny eiofABe, démag 6 amébnk’ évi xn\@,

255 oTi} 8¢ mapolO’ EABwV Khioing, €Tt O’ fjOeke Oupd
elodéery Tpwwv kal Axat®dv QUAOTILY aivrv.

Locate the geographical references implicit in the two epithets of Zeus in line 233.

Zeloi (line 234). List (in English translation) the three attributes of this population and
explain their general significance for the Selli.

Nuev ... Axadv (lines 236-237). Give three details about the episode Achilles is
referring to here. Quotation of the Greek text is not required.

T® ... Etapolowy (lines 241-248). List the four things Achilles is asking from Zeus for
Patroclus. Support your answer by quoting the Greek text.

Write out and scan otij ... aivijv (lines 255-256). Indicate elisions where necessary.

[2]

[4]

[3]

[4]

(2]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 1.31.1-4

10

(d)

(e)

0 &8’ eine “KAéopiv te kai Bitwva. tovToLoL yap ¢odot yévog Apyeiotot Biog te dpréwv iy, Kai
TPOG TOVTW pwun owpatog totde- deBlogodpol te AppodTepot Opoiwg Nnoav, kai 61 kat Aéyetal
68e 6 A\oyog. €ovong O0pti¢ T "Hpr Toiol Apyeiotot €dee mavTwg TV pntépa avtdVv (evyel
KopoOfjvat £¢ 10 ipdv, oi 8¢ oL foeg ¢k ToD dypod ov TapeyivovTto &v dpn- EkkAniopevol 8¢

Tf] dpn ol venviat VtodVVTEG avTol LTIO TNV LeOYANV eilkov TNV dpaay, émi TG auagng 8¢ ot
WXEETO 1) uNTnp- oTadiovg 6¢ méEVTeE Kal TeooepakovTa dlakopioavTeg amikovto €G TO ipdv. Tadta
8¢ 0@t motrjoaot kai 0¢@Beiol UTIO TG AV YOpLOG TehevTr| TOD Piov dpiotn Emeyéveto, Siédeké

Te v TovToLoL O Be0g W¢ dpetvov gin avBpwmw teBvavar paAlov fj {wewv. Apyeiot pev yap
TEPLOTAVTEG ELAKAPL{OV TOV VENVLEWY TNV POUNY, ai 8¢ Apyelal THV UNTépa adTd®V, OlwV TEKVWV
gkvpnoe- 1) 8¢ puntnp mepixapng éodoa T@ Te Epyw Kol TH PriUn, 0Tdoa AvTiov ToD AydApaTOq
ebyeto KAeoPi te kal Bitwvi Tolot éwvTiig Tékvolat, of uv étipnoav peydhwg, v 0eov dodvat 10
avBpwnw Tuyelv dplotov éoTi”

09’ ... Tonde (lines 1-2). Explain in what two ways Cleobis and Biton excelled.
Support your answer by quoting the Greek text. [2]

Translate éovong Optfig ... év Wpn (lines 3—4). [3]

dpewvov ... Lwew (line 8). Give three reasons why Cleobis and Biton are the best
examples of this thought. Quotation of the Greek text is not required. [3]

Apyeiot ... éxvpnoe (lines 8-10). Identify the persons praised in this passage, and
explain why they are praised. Support your answer by quoting the Greek text. [4]

State where Cleobis’s and Biton’s mother is when she prays to Hera, and give two
details about her state of mind. Quotation of the Greek text is not required. [3]
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Option B: History

Extract 4 Herodotus, The Histories 1.36.1-3

10

(e)

0 pev On Sioutav eixe év Kpoioov. év 8¢ 1@ adt® xpovw To0Tw év 7@ Muoiw OAOpmw VOGS XphHa
yivetal péya- Opuwpevog 8¢ 00toG ék Tod Gpeog TovToL TA TOV Muo@v £pya StagBeipeoke.
moANakig 8¢ oi Muool én’ avtov €6eA00OVTEG TTOLEETKOV gV KakOV 008V, Emaoyov 8¢ Tpog avToD.
Télog 6¢ amwopevol tapd TOv Kpoicov tdv Muo®v dyyelot édeyov tdde. “@ Pacthed, DOG
Xpiua LEYLOTOV Avepavn NUiv &v T xwpn, 06 ta épya Stagbeipet. TodTov mpoBupeduevol ey
oV duvdpeba. viv v Tpoodeopedd oev Tov maida kai Aoyadag venviag kail kKOvag cuumEpaL
MUY, OG &v puy €Eehwpev €k Thg xwpne.” ol pev 81 tovTwv é6¢ovto, Kpoioog 8¢ uvnuovevwv
ToD Oveipov Ta Emea ENeye o@L TAde. “MadOG eV mEPL TOD EHoD pun) pvnodijte €ti- 00 yap v
DUV ovpmépyatpi: veoyapog te yap €otl kal Tadtd ol vOv pélet. Avd@v pévtot Aoyddoag kal 1o
KUVIYEOLOV TV OLUTELY W, Kal Stakelevoopat Toiot iodot elvat wg TpoBupotdtolol ovveEehely
VUiV T Onpiov ék TG xwpne.”

Identify the two lands where the events narrated in the extract take place and locate

them in their geographical context. [3]
List three actions of the boar. Support your answer by quoting the Greek text. [3]
Translate Todtov mpoBupeodpevol ... €k Tig xwpng (lines 5-7). [3]

Identify the two kinds of help Croesus agrees to send in order to aid the Mysians.
Support your answer by quoting the Greek text. [2]

Outline the reasons given by Croesus to the Mysians for not sending his son, and
outline his true reasons. Quotation of the Greek text is not required. [4]

Turn over
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Option C: Tragedy

Extract 5 Sophocles, Electra 634-659

KAY. gnatpe On oL Ovpad’ 1 mapodod pot

635 TaykapT’, &vakTt TS’ Omwg Avtnpiovg
gVYAG Avaoyw detpdtwy, & vOv Exw.
KAvoLg &v 1i0n, Poife mpootatnpte,
KEKPLUUEVNV pov BakLyv- 00 yap €v @ilotg
0 ndbog, ovde mav dvantu§au Tpémel

640 TPOG PG Tapovong Tijode mAnoiag époi,
un ovv OOV Te kal ToAVYAwoow Poi
omeipn pataiav Ba&iy eig mdoav TOALy.
AN @8 dxove- T|8e Yap KAY® PpAcw.
a yap mpooeidov vukTi Tf)de paopata

645 Sloodv dveipwy, TadTa pot, Avkel” dvag,
el pev mégnvev €00Ad, 60G TeEAeoPOpa,
el 8’ &x0Opa, 1ol éxOpoioty Eumaliy pébeg:
Kal un pe mAovtov Tod TapovTog el TIveg
doMotot BovAebovaty ExPalely, £@AG,

650 AN 08¢ (1 adel {woav dPAapel Biw
dopovg Atpeld@v okintpa T’ dpgénery Tade,
@ilotoi te Euvodoav oig Euver vov
evnuepodoay kai Tékvwv dowv épol
dvovola pr mpoceaTy 1) A mikpd.

655 TadT’, @ AVkel’ AmoAlov, INewc kKADwV
80¢ maowy nuiv domep éartovpeda.
Ta & dAAa mavTa kal oLwTWong o
¢nadlw oe Saipov’ Gvt’ e€eldévar
TOVG €k ALOG yap elkog €0TL TAvO™ Opav.

5. (a) Explain what has just happened that makes Clytaemnestra pray to Apollo, and
give two Greek words or expressions from this extract that refer to this event or its
consequences. [3]

(b) mpootatnpie (line 637). Translate this epithet and explain its dramatic irony. [2]

(c) Identify three details that make clear Clytaemnestra’s opinion of Electra. Support your
answer by quoting the Greek text. [3]

(d) List four things that Clytaemnestra is asking from Apollo. Quotation of the Greek text
is not required. [4]

(e) Translate ta d” dAha ... 0pav (lines 657-659). [3]



Option C: Tragedy

Extract 6

(c)

(d)

(e)
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Sophocles, Electra 734-756

735

740

745

750

755

fAavve §° €oxatog pév, botépag 8 Exwv
TwAovg Opeotng, Td TéNEL TOTIV PEpWV-
OTwG & Opd HOVOV VIV ENAENEUEVOY,
o0&V 81 dtwv kéhadov évoeioag Boaig
nwlotg Swwket, k&d§lowoavte Quya
NAAUVETNY, TOT™ &AAOG, AN0O™ dtepog
Kapa TPOBAAAWV IMMKDV OXNUATWY.

Kal ToLG uev &AAovg mavtag do@aleig dpopovg
wppdd’ 6 TAnuwv 0pB0g €€ dpBdV Sippwv-
gmerra Aowv fviav dplotepav

KAumtovtog inmov AavBavet othAnyv dxpav
naioag- €Bpavoe § d§ovog péoag xvoag
k&g avthywv dOAoBev- €v §’ éNiooetat
TUNTOIG ipdot: ToD 8¢ mintovTog médw
ndAoL Steomapnoayv £G LECOV SPOUOV.
oTpatog 8’ dnMwg Opd Vv EKTEMTWKOTA
Sippwv, dvwlolvée TOv veaviav,

ol’ épya dpaoag oia Aayxdvet kaxd,
QOPOVHEVOG TIPOG 00dag, ANOT’ oDpavd
okéAN Tpogaivwy, £€G T€ viv dippnAartal,
HOALG kaTaoxeBOVTES immikov dpopov,
gE\voav aipatnpov, dote pndéva

yvovat @idwv idovt’ av dadAov dépag.

Write out and scan fjlavve ... pépwv (lines 734-735). Indicate elisions where

necessary.

lllustrate Orestes’s attitude to racing before the accident with three details from the
extract. Support your answer by quoting the Greek text.

Omwg & O6pd povov viv Ekeletupévov (line 736). Explain this remark, giving three
details about what has just happened in the race. Quotation of the Greek text is

not required.

Outline four stages through which the accident unfolds for Orestes. Quotation of the
Greek is not required.

Translate otpatog ... kaka (lines 749-751).

[2]

[3]

[3]

[4]
[3]

Turn over
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Option D: Agon

Extract 7 Sophocles, Antigone 446-470

KP. o0&’ &iné pot un pijkog, AAAd ovvtouwe,
f6noba knpvxOévta pn mpaooety Tade;
AN. 1i0n: ti 8’ ovk Euelhov; Euaviy yap nv.
KP.  kal 0ft’ étohpag tovod’ vmepPaively vopovg;
450 AN. o0 ydp ti got Zebg v 6 knpv&ag tade,
008’ 1 &Vuvoikog TV Katw Bedv Aikn
ToloVad’ €v AvBpWTOLoLY WPLOEV VOHOVG.
o0d¢ 00¢vely ToooDTOV WOUNV T O&
KNPLYHaO’, dot’ dypanta kdo@ali Oedv
455 vopupa dvvacOat Bvntov &vO’ dmepSpaplely.
oV yap Tt vOv ye kax0ég, AN’ dei mote
(i Tadta, kovdeig 0idev €€ dTov ‘Pdvn.
TOVTWV £y 0VK EUEANOV, AVOPOG 00deVOG
epovnua deiocac’, év Beoiot T Siknv
460 dwoetv- Bavovpévn yap €€7dn, Ti 8’ ob;
Kel ) ob mpovkrpvag. ei 8¢ ToD Xpovov
npoobev Bavodpal, kKépdog adt’ Eyw Aéyw.
00TIG Yap €V TOANOIOLY WG €YD KAKOTG
(i), TG 68 ovxi katBavwv kEpdog pépet;
465 oVtwg £potye Todde ToD HOpOL TUXETY
map’ ovdEV GAyoG: AAN &v, €l TOV €€ g
Hntpog Bavovt’ dbamtov Avoxouny vékvy,
Keivolg av fAyovv- toiode §° ovk dAydvopat.
ool &’ &l dok® VOV pdpa dpdoa TVYXAVELY,
470 0XedOV TL Lwpw pwpiay dOPALOKAVW.

7. (a) Write outand scan oV §’ einé ... 1d8¢ (lines 446—447). Indicate elisions where
necessary. (2]

(b) fidnoba ... vopoug (lines 447-452). Analyse the contrast between knpvx6évta and
vopol in this passage. [4]

(c) ovd¢ ... ‘pavn (lines 453-457). Present four reasons why Antigone believes the gods’
laws carry more force than Creon’s edicts. Support your answer by quoting the
Greek text. [4]

(d) TovTwV ... pépel (lines 458—-464). Present three reasons why Antigone is persuaded to
do what she did, even at the cost of dying. Quotation of the Greek text is not required. [3]

(e) Identify two figures of speech in this extract. Support your answer by quoting the
Greek text. [2]
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Option D: Agon

Extract 8 Lysias, On the Murder of Eratosthenes 32-35

10

(@)

(d)

(e)

dkoveTe, avOpeg, OTL kehevel, Eav Tig dvBpwmov édebBepov fj maida aioxdvn Pig, SimAfy v
PAAPNY d@eiletv- €av O¢ yuvaika, €@’ aiomep dmokTeively €EeoTLy, €V Tolg avTOlG évéxeobal:
oVtwe, O avdpeg, Tovg Pralopévoug Elattovog {nuiag a&iovg fynoaro eivat 1 Tovg meibovtag:
TOV UEv yap Bavatov katéyvw, Toig 8¢ SimAfv émoinoe v PAaPny, nyovdpevog Tovg pev
Sampattopévoug Big KO TOV PracHévtov woeiobat, Tovg 8¢ meicavtag oVTwG ATV TAG YVXAG
StapOeipery, ®oT’ oikeloTépag abTolg otelv Tag dANoTpiag yuvaikag fj Toig avopdot, kai maoav
ém’ ékelvolg Thv oikiav yeyovévar, kai Tovg maidag adnlovg eivat OTOTEPWVY TVYXAVOLOLY GVTEG,
TOV Av8p@OV 1 TOV potx@v. vl @v O TOv vopov Tl Bavatov adToig émoinoe Ty (nyiav.

¢Uod Toivuy, ® AvOpeg, Ol HEV VOUOL OV HOVOV ATty VWKOTEG €iot (] AdLKEDY, AAAA Kol KEKEAEVKOTEG
TadTNVY TNV SikNy AapPdvetv- €v Opiv §° €oTi mOTEPOV XpT) TOVTOVG IoXVPOVG T undevog d&iovg
elvat. &y pév yap oipal maoag tag moAelg St TodTo Tovg vouovg Tibeabal, iva mept v av
TPAYUATWV ATTOPDUEY, TTapd TOVTOVG ENOOVTEG okeYwueDa 6 TL il ToTEOV EOTIV.

kehevel (line 1). Identify the subject of this verb. Give two further details about what
has just happened in the court process. [3]

Tovg 8¢ meioavtag ... TV pox@v (lines 5-8). Explain how seducers affect their victims,
and list three other consequences of their actions. Quotation of the Greek is not
required. (4]

State how, according to Euphiletus, the laws apply to his case. Support your answer
by quoting the Greek text. [2]

Summarize three arguments Euphiletus uses in this extract to support his case.
Quotation of the Greek text is not required. [3]

Translate éyw pev yap ... momnréov éotiv (lines 11-12). [3]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 1

10

(@)
(b)

(d)

(e)

iNtpiknv 80T BovAetan dpODG (e, Tade Xpt| TOLETV- TPDTOV pEV EvOvpeioBat Tag dpag

ToD €106, 6 Tt SOvatal drepydleadal ékaotn- 00 yap £oikaoty dAARAoLoy 00OV, dANA TTOAD
Stapépovoty avtai Te €@’ EwuTéwV Kal év ol peTaBoAfjoyv- émetta 8¢ Ta mvevpata T Oeppd
Te Kol TA YuXpd, HAALOTA HEV TA KOV TTaoty avBpwmoloty, Emetta 8¢ kal Td €V EKAOTN XWPT
grywpla €ovta. Oel 8¢ kal TV VéATwV EvBvpeiobal Tag Suvdpag: domep yap év T® oTopaTL
Stapépovot kal év 1@ oTtabud, ovtw kal 1) Suvapg Stagépel TOAD EkaoTov. DOTE €G TOALY
gmetdav agiknrai Tig, f1g dnelpdg €0y, Stappovtioat Xpr ThHv B€oty avTiig, dkwg Keltat Kai Tpog
TA TVELHATA Kal TPOG TAG Avatoldg Tod nAiov. ob yap TwiTo dvvatat {Tig mpog Popény keital
Kal fTig Tpog voTov 008’ fTig mpog fAlov dvioxovta o0d’ fiTig mpog dhvovta. Tadta d¢ Xpr
¢vBupeiofat wg kaAhota kal T@V Vd&TWV TEPL WG Exoval, kal TOTEPOV EAwOETL XpEovTal Kal
nalBakoiowy fj okAnpoiot Te kal €k HeTewpwy Kai TeTpwdéwv glte AAvKOIoL Kal dTepAUvoLoLyY- Kal
TV YAV, T0TEPOV YA Te kai &vudpog fj daoeia kal Epudpog Kkai glte EykothdG 0Tt Kal TvLynpn
elTe pETEWPOG Kal Yoy pn.

Present the two factors that the practitioner of medicine needs to investigate first. [2]

Describe four ways in which winds can differ. Support your answer by quoting the
Greek text. [4]

Identify the three aspects of water that are relevant to the physician. Support your
answer by quoting the Greek text. [3]

Identify the three aspects that one should consider when arriving in a new town.
Support your answer by quoting the Greek text. [3]

Translate tadta ... metpwdéwv (lines 9-11). [3]
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Option F: Scientific knowledge

Extract 10  Hippocrates, De aere aquis et locis 7

10.

10

(a)

(b)

(d)
(e)

0V Toivuv 0lOV Te €k TolavTng YiiG Vdata dyaba yiveoBat, AANG oxAnpd kai kavowdea
SiovpeioBai te xakemd kai mpoOg TNV Staxwpnoty Evavtia eival. dplota 8¢ OKOOA €K HETEDPWV
Xwpiwv Pel kal AOQwV yenp@®v. avtd Te yap £0Tt YAukéa Kai AeVKd Kail TOV oivov @E€peLy

OAiyov oid ¢ éoTiv. TOD 8¢ xelpdvog Oepud yivetat, Tod 8¢ B¢peog Yyuxpd. oVtw yap &v ein €k
Babutatwy myéwv. pdAiota 8¢ Emavéw OV Ta pedpata mpog TG dvatolag Tod fAiov éppwyaot
Kai pdAlov pog tag Oepvdg. dvaykn yap Aapmpotepa eival kal edwdea kai kod@a. Okdoa 8¢
€0TLV AAVKA Kal dTépapva Kai okAnpd, TadTa pev mavta miverv ovk dyadd- eiol 8 Eviat gioteg
Kal vooevpata, €6 & émtndetd €0t & Totadta Hdata mvopeva, Tept OV Ppaow avtika. Exet 8¢
TPl TOLTWV MSe: OKOOWV HEV ai Tyai TPOG TAG AVATOAAG EXOVOL, TADTA HEV APLoTa ADTA EWVTOV
¢oTt- Sevtepa O¢ Ta petadd TV Bepvdv dvatoléwv éoti Tod fAiov kai Svoiwv, kail udAlov ta
TPOG TAG dvatoldg: Tpita 8¢ Ta petald TV Svopéwv T@V Oepv@v Kal TOV XELHEPVDOV- AVAOTATA
8¢ Ta TPOG TOV VOTOV Kal T& HETAED TRG XELHEPLVIIG AVATOARG Kai Vo106,

Outline four characteristics of the waters springing from bad ground. Support your
answer by quoting the Greek text. [4]

Explain how and why the temperature of the water is affected by the fact that it runs
down from high places. [3]

Describe the two characteristics of the best springs with regard to orientation.
Quotation of the Greek text is not required. [2]

Translate 6xooa 8¢ ... ta Toladta Héata mvopeva (lines 6-8). [3]

debtepa ... dvatolag: (lines 10-11). Describe the orientations of this second type of
spring. Quotation of the Greek text is not required. [3]




